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Solution :

(i) 39, T fag ¥ B’ 3rd Wy [ &1 gl § |

(ii) 3, & T fogan ¥ §id) dhad U 1 R o bt § |
(i) I, TP Jid a1 e 3R a0 T §gT5 o Il g
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Solution :

(i) TR Y@1Y : 9 1 Q@ JHR Heamd ¢ of T gk ¥ ot 981 et 8 iR
3! o B g Yed IHH WA © |

(i) T XY @ & X TP IR IR 39 UHR Jo! 6l ¢ b 3% did BT HIvl Th
TSIV BT § ) U Y@l B o [T Hed ¢ |

(iii) YOGS : o T@1 & & 3id fog g1 S¥ YOS $gd § |
(iv) TP B : WP P IR IR S T F g B B sed T |
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Solution :
g1, ug YR 7 &) SRR qwr & Rred Yar ok fig @ |

g1, I8 YR SR § ife T 3 i fRyfaat @ afdd B ok 379 ¥ o8 oft
gfaas &1 AMYYRUT T BT IR 7ol HRAT § |

Q4. afg 31 fa=gait A 3k B & oftw w fig c Twr fR@ ? f Ac = cp &, o R
P & AC = 12AB B | TP 3TPpfd T &7 39 WY BT |

Solution :

fearg: ACc = BC

g HAT® : AC = AB



YUHIUT : AC +BC = AB
SYdl AC + AC = AB

HYdT 2AC = AB
or AC= —
or AC %AB
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Solution :

C YGRIE AB &1 AH-foig © |

$9fdl, AC = BC

1, C' YWES AB TR § St AB &1 Heg-fag @ |
$4fay, AC™ = BC’

or AC =§AB .......... (1)
or AC Z%AB .......... 2)
THHRT (1) 3R (2) ¥

AC = AC

3l C'=C

UMY, C 3R C' o Bt foig § 3rid Jurehl © |
3{d: U YWGS & U o H-ig g § |
Q6. 3MPfd 5.10 H, afe AC = BD 3 dl Rig #ifvw fs AB = cD 7 |




Solution:

fearg: ACc=BD
RIg @31 8: AB=CD

JHIHRO1 (1) T ¥ BC UCH WR;
AC - BC = BD - BC
AB = CD
Q7. gfaas @t ANFEAl &t JE! | f&ar gam ARF[Ea 5 Te Jdaardt 9« i
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Solution :

fTEid 5 fay & 9 S8 I © 39T 34 gdourdl W1 Sifa § ?
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